PIRANHA OFFROAD PRODUCTS P/N BT100R

‘Piranha Off Road products are not associated in any way with Toyota Australia or any of its related companies’

To Suit LANDCRUISER 100 SERIES

THDFTE 6 Cyl 4.2 TDI (Third Tray) N NOT SUHBLE
N\ FORSELFFIT

FITTING INSTRUCTIONS

1. Remove fuel filter/primer & bracket (See Fig.1)
2. Remove computer & bracket (See Fig.1)

3. Remove small black fuel filter (See Fig.1)

PARTS INCLUDED WITH TRAYI 4. Remove all wiring on inner guard & re-run around where tray will sit (See

Fig.1)
1 X Tray 5. Unbolt fuel line bracket from inner guard. (Nut under wheel arch) (See Fig. 3)
4 X M6 Bolt 6. Mark rear arm for computer & drill the two holes that are needed (See Fig. 4)
1 X M6 Bolt (Countersunk)§ 7. Mount computer to tray
5% M6 Nut 8. Place tray in place & manipulate air/con line to gain clearance on upper

mount (See Fig. 5)

3 X Body Washer 9. Using 2x M8 short align & bolt both upper arms (See Fig. 6)

1 X M6 Weld Bolt 1 10. Using M6 bolts align & bolt 3 mounts in lower tray, ensuring to use a M6
2 X M8 Bolt Long c/sunk in tray mount (See Fig. 6)

2 X M8 Bolt Short | 11. Plug computer back in & tighten all tray mounting bolts

2 X M8 Nut 1 12. Place fuel filter bracket between tray & firewall & bolt to tray (See Fig. 7)

. 13. Drill lip in firewall for bracket (wiring loom can be unbolted & moved so you
1 X Universal Top Mount dont drill through it)

2 X J Bolt | 14. Bolt bracket using M6 bolt & nut

15. Manipulate fuel lines & re-bolt filter/primer to new bracket

16. Align small black fuel filter against tray & drill hole for mounting, then mount
using weld bolt to allow clearance on battery (See Fig. 8)

“ RECOMMENDED ISOLATOR 17. Place battery into position & affix into position using top mount.

DBE140SF Ensure, before closing the bonnet that all items fitted have adequate
or clearance

FITTING INSTRUCTIONS © Automotive Ignition Systems Pty Ltd 2017 BTT00R



